Practice
Factoring — Difference of Squares, Grouping

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again.

#1) Factor this expression completely: x* =49

#2) Factor this expression completely: x*—64y”

#3) Factor this expression completely: Byt~

#4) Factor this expression completely: 4w? —25*

#5) Factor this expression completely: x*—-81y*



#6) Factor this expression completely: 12x°y* —27¢°

#7) Pactor this expression completely: 8x’ —18xy”

#8) Factor this expression completely: 2xy+3y+8x+12

#9) Factor this expression completely: xy* —9x+y* —9y

#10) Factor this expression completely: k* — 5k —mk + Sm



Answers:

#1) (x+7)(x-7)

#2) (x+8y){(~—8y)

#3) 3(x+3)(x-3)

| #4) (2w +5r}{2w—5r)

#5) (" +9y")(x+3y)(x—3y)
#6) 3(2xy" +3¢°) (20 -3q")
#7) 2x(2x+3y)(2x-3y)

#8) (2x+3){y+4)

#9) (3 +3)(y-3){(x+y)

#10) (k—5)(k —m)



Solutions:
#1) Facior this expression complelely: v - 49
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##2) Factor this expression completely: X —-64_;}" ‘\
z * chedfe!
~(8 ‘
/ (X{‘g@(fﬂ_sj K- Exyt Exy= ¢y Y s

k"”“"' d V-.a""’f

I13) Factor this expression completely: 3x% - 27
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#4) Factor this expression completely: dw” 25 Chatt
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#15) Factor this expression completely: v —is'ly4 . chack ™
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116} Factor this expression completely: 1237y - 274"
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17) Fuctor this expression completely: 8y 18y
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#8) Factor this expression completely: 2xp+ 33+ 8x +12
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#9) Fuctor this expression completely: v = 9x 4y -9y
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i110) Factor this expression completely: &7 — 5k ~mk + Sm

(%K) H{—micrsm)

(k) —m{K-5)

[ERIEND)

v e

c:)\ea
2% 39 )% 39)
ax { y*~bxyg d"j““?})z)
ax (1x%y°)

By ’-i8xy? v

(:«}U.,L?' \ )
(2%t B(4+v)
2y 43)(.»{-33 41"

Chect® |
(ge?)y-2)me0)
( l‘j“’m‘sﬁ Tl 3’5"“‘?) (“" 4)
(y*- IESRY)

xy2Hy? 9% -ty v

chock:
(k=5(k-m)

(% b S S VT



